

Reappear Grade Sheet of B_Tech CE_3rd_Semester_October 2020

		Basics of Management				Computer Aided Engineering Drawing				Introduction to Electrical & Electronics Engineering				Open Elective III							Thermodynamics					
		CSU-101				CSU102			CSU100				OE						CSU001				Total			
Sr.	Reg. No.	No. Credit Hours- 3			Credit Hours- 4			Credit Hours- 4					Credit Hours- 3						Credit Hours- 4				Total Point	Grade Point		
No	Reg. 1vo.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured			Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Average
1	1651302016	С	3.00	5.00	15.00	A+	4.00	9.00	36.00		N.	.A	•	Solar Energy	OE021	A	3.00	8.00	24.00	О	4.00	10.00	40.00	14.00	115.00	8.21
2	1651302019	P	3.00	4.00	12.00		N	I.A			N.	.A		Automation in Modern Life	OE048	B+	3.00	7.00	21.00	О	4.00	10.00	40.00	10.00	73.00	7.30
3	1651302026	F	3.00	0.00	0.00		N	I.A		A	A 4.00 8.00 32.00						N	.A		A	4.00	8.00	32.00	11.00	64.00	5.82
4	1651302004	C.S																								

Note: F grade course to be repeated

Shoolini Reappear Grade Sheet of B_Tech CE_4th_Semester_October 2020

	Reg. No.		Digital M	larketing		Strength of Materials				Writing Seminar III					SPRII	NT-IV	_			
			OE	011		CSU022				FSU010					SP	004				
Sr.		Credit Hours- 3				Credit Hours- 4					Credit Hours- 3				Credit Hours- 1				Total Point	Grade Point
No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Average
1	1651302016	В	3.00	6.00	18.00		N	.A		A+	3.00	9.00	27.00	B+	1.00	7.00	7.00	7.00	52.00	7.43
2	1651302019		N	.A			N	.A		A+	3.00	9.00	27.00	N.A				3.00	27.00	9.00
3	1651302026		N	.A		A	4.00	8.00	32.00	P	3.00	4.00	12.00	N.A				7.00	44.00	6.29
4	1651302004					•	•	•	•	•	C.S	}	•	•		•	•			



Reappear Grade Sheet of B_Tech CE_5th_Semester_October 2020

		Analo	og and Dig	gital Elect	ronics		Total Pogistored		Grade Point					
			CSU	J060				Total Point						
Sr.	Dog No		Credit I	Hours- 4										
No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured			Grade - Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Average
1	1651302019	N.A				Total Quality Management	OE027	A+	3.00	9.00	27.00	3.00	27.00	9.00
2	1651302047	C 4.00 5.00 20.00						N.A				4.00	20.00	5.00
3	1651302004	C.S												•



Reappear Grade Sheet of B_Tech CE_7th_Semester_October 2020

	Reg. No.		Ethical	Hacking		A	irports and	d Tunnelir	ng	Desig	n of Rein Struc	forced Co ctures	ncrete	Total Posistored		Grade Point Average
			OE	055			CSU	J167			CSU	J080			Total Point Secured	
Sr.			Credit l	Hours- 3			Credit I	Hours- 3			Credit l	Hours- 4				
No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit		
1	1651302023	B+	3.00	7.00	21.00	О	3.00	10.00	30.00	B+	4.00	7.00	28.00	10.00	79.00	7.90